DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 3)

DIVISION WITH 1 TO 10 Hame
Time: Score: y—

) —43.89 +1 = 136 104 +4 =
122) 246.96 = 4 = 137 332.5 + 10 =
123 15600 = & = 138) 3737 + 10 =
1290 3361 - 5 = 139) 1802 +1=
125) —3212 =5 = 10) 16945 + 5 =
126) 4462 =— 10 = Uy =9 778 =2 =
127 13610 = 10 = 12 926.7+3 =
128) —438.24 - 8 = 1) —73.28 -8 =
129 76.096 = 8 = ) =590 + 2 =
13) —18.51 =1 = 15 —H5.67 + 10 =
131) 1344.8 =— 4 = 146)  —4282.2 =9 =
132) —43.275 + 5 = 1 918 +6 =
133) 447.6 = & = us) 112.86 = 3 =
131) 34741 — 7 = 149) —24.376 = 8 =
139 —2796.3 + 3 = B0 —08.6 + 7=

Mathematics: Division - Level 6 - Horizontal - Set 3
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